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QUESTION 1

What is a benefit of Clustered Base Tables?

A. Replicates base table data.

B. An alternate way to order a table\\'s data.

C. Materializes on disk joins between tables.

D. Increases the performance of load operations.

Correct Answer: B

QUESTION 2

Which command allows you to show information about the database hardware as well as take actions such as activate
or deactivate components, locate components, or delete them from the system?

A. sar

B. nzhw

C. nzsystem
D. nzinventory

Correct Answer: B

QUESTION 3

Which statement is true about optimizer settings?

A. They can be set system wide only.

B. They can be set at the database level only.

C. They can be set at the session and at the group level.
D. They can be set system wide and at the session level.

Correct Answer: D

QUESTION 4
When is the Toplogylmbalance event triggered?

A. When a SAS switch has failed.
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B. When the path the path between an S-Blade and its disks has failed.
C. When a disk enclosure\\'s voltage sensor is reading outside the nominal range.
D. When an S-Blade has ownership of more dataslices than is optimal (usually following a disk replacement).

Correct Answer: D

QUESTION 5

Which clause CANNOT be used with a CREATE VIEW statement?
A. SUM ()

B. GROUP BY

C. ORDER BY

D. OUTER JOIN

Correct Answer: C
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